THSFERBRRXFAFZEHF—E (—KEKR)

(4 & SR FRAEERER R ]

AFEEH

X MEFESL SREEHN BEH FEM |HXAIEH EEE
JtiEE JtiEE 133 68 67 67 2.3%
it AR 7 3 3

=2FE 10 8 8

=BEHE 26 11 11

AR 5 0 0

A= 10 3 3

=ER 3 1 1 26 0.9%
EES IR 73 26 23

N 31 10 10

HER 31 6 6

BER 103 33 32

FER 74 28 28

B 242 73 68

#HE)E 116 32 30 197 6.6%
&R Ry 39 15 15

EWE 94 44 43

AE 111 47 46

=HE 85 48 47

R 18 7 7

RHFE 47 27 25

A=Y= 82 28 28

Eedrolsy 158 72 71

THE 398 157 154

=5E 129 57 55 491 16.5%
iR HBER 228 103 103

RAERRT 432 176 173

pN T 1,937 722 719

EER 977 407 403

ZRER 330 127 125

MIWLE 94 41 40 1,563 52.5%
= ElRE 31 13 13

ERE 27 14 14

fif] L 2 142 89 88

LER 253 117 115

=]=} 62 29 29 259 8.7%
Y =] mER 41 19 19

FIE 108 37 37

EIRE 105 49 49

SR 29 16 16 121 4.1%
JU - iE [f2 i 2 205 90 89

HEER 23 14 14

RIFE 53 31 31

RERIE 66 29 29

N 36 21 20

=GR 36 18 18

EREE 67 28 27

REE 50 16 16 244 8.2%
ZDfth SEFREEREER 36 . ]

& S ER

NEDFRE 4 0 0

1 1 1 8 0.3%

&5 7,398 3,018 2,976 2,976]  100.0%




